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The figures in the margin indicate full marks. 

Candidate are requested to give their answers in their own words as far as practicable. 

 

1. Answer any four of the following questions: 2×4=8 

(a) What do you mean by standardization of a test? 

(b) Write two general categories of test items. 

(c) What is ‘try-out’ of a test. 

(d) Mention the types of test on the basis of scoring. 

(e) Write two importance of teacher-made test. 

(f) What do you mean by reliability of a test? 
 

2. Answer any four of the following questions: 4×4=16 

(a) What are the steps to be followed in the construction of an achievement test? 

(b) Write the importance of a standardized test. 

(c) Write the benefits to form test blue-prints. 

(d) Mention different types of achievement test. 

(e) Mention some demerits of a teacher-made test. 

(f) Write a note on item analysis. 

 

3. Answer any one from the following: 8×1=8 

(a) Show difference between teacher-made test and standardized test. 

(b) Discuss the characteristics of a good test. 

 



  

 

বঙ্গানুবাদ 

 

      ১। যে য োন চোরটি প্রশ্নের উত্তর দোও।              ২X৪=৮ 

           ( )      অভীক্ষোর আদর্ শোয়ন বলশ্নে  ী  যবোশ্ন ো ? 

          (খ)      অভীক্ষো পশ্নদর দুটি সোধোরন যেণীববভোগ উশ্নেখ  র।  

          (গ)       এ টি অভীক্ষোর 'ট্রোই-আউি'   ী? 

          (ঘ)        নম্বরদোশ্ননর উপর বভবত্ত  শ্নর অভীক্ষোর যেণীববভোগ উশ্নেখ  র।  

          (ঙ)        বর্ক্ষ -বনবম শে অভীক্ষোর দুটি গুরুত্ব যলশ্নখো। 

          (চ)       অভীক্ষোর বনভশরশ্নেোগযেো বলশ্নে  ী যবোশ্ন ো ? 

 

       ২। যে য োন চোরটি প্রশ্নের উত্তর দোও।                               ৪X৪=১৬ 

            ( )      এ টি পোরদবর্ শেোর অভীক্ষো বনম শোশ্নণ  ী  ী ধোপ অনুসরণ  রো হয় ? 

             (খ)   এ টি আদর্ শোবয়ে অভীক্ষোর গুরুত্ব যলখ। 

             (গ)     এ টি অভীক্ষোর নীল-ন র্ো গঠশ্ননর সুববধোগুবল যলখ। 

             (ঘ)   বববভন্ন ধরশ্ননর পোরদবর্ শেোর অভীক্ষোগুবল উশ্নেখ  র। 

             (ঙ)    বর্ক্ষ  বনবম শে অভীক্ষোর ব ছু ত্রুটি উশ্নেখ  র।  

              (চ)  পদ ববশ্নেষণ-এর উপর এ টি িী ো যলখ। 

 

      ৩। যে য োন এ টি প্রশ্নের উত্তর দোও।                                            ৮X১=৮ 

              ( )  বর্ক্ষ  বনবম শে অভীক্ষো এবং আদর্ শোবয়ে অভীক্ষোর মশ্নধয পোর্ শ য যদখোও। 

              (খ)   সঅুবভক্ষোর বববর্ষ্ট্য গুবল আশ্নলোচনো  র। 

 


